

Bid Tab-Solicitation #2021-6-89 Litter Collection Services

BIDDERS MUST BID ON EACH LINE IN THE GROUP TO BE CONSIDERED FOR AWARD. THE CITY RESERVES THE RIGHT TO AWARD BY LINE, GROUP OR IN TOTAL, WHICHEVER IS MOST ADVANTAGEOUS TO THE CITY

	Vendor Name: Go Earth Corp					r Name: t Services		
Group A - US 75 Maintenance	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 US75 Overpass/Underpass	Visit	26	\$880.00	\$22,880.00	\$14.00	\$364.00	\$160.00	\$4,160.00
2 US75 Turnarounds & R.O.W.	Visit	26	\$880.00	\$22,880.00	\$14.00	\$364.00	\$450.00	\$11,700.00
	GROUP	A TOTAL		\$45,760.00		\$728.00		\$15,860.00
Group B - City Wide/Regional Parks	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
Allen Station Historic Dam Greenbelt	Visit	156	\$55.00	\$8,580.00	\$13.50	\$2,106.00	\$5.00	\$780.00
2 Allen Station Park	Visit	260	\$440.00	\$114,400.00	\$14.00	\$3,640.00	\$30.00	\$7,800.00
Allen Station Park Ballfields and Perimeter	Visit	312	\$220.00	\$68,640.00	\$14.00	\$4,368.00	\$20.00	\$6,240.00
4 Don Rodenbaugh Natatorium	Visit	364	\$110.00	\$40,040.00	\$14.00	\$5,096.00	\$7.50	\$2,730.00
5 The Edge @ Allen Station Park	Visit	364	\$220.00	\$80,080.00	\$14.00	\$5,096.00	\$12.50	\$4,550.00
6 Allen Senior Recreation Center and Heritage Village	Visit	156	\$110.00	\$17,160.00	\$13.50	\$2,106.00	\$11.50	\$1,794.00
	GROUP	B TOTAL		\$328,900.00		\$22,412.00		\$23,894.00
Group C - Community Parks	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 Bethany Lakes Park & North Channel	Visit	364	\$110.00	\$40,040.00	\$14.00	\$5,096.00	\$35.00	\$12,740.00
2 Celebration Park	Visit	364	\$138.00	\$50,232.00	\$14.00	\$5,096.00	\$90.00	\$32,760.00
3 Ford Park East	Visit	364	\$83.00	\$30,212.00	\$14.00	\$5,096.00	\$35.00	\$12,740.00
4 Ford Park West, Dog Park, Pool and Parking lot	Visit	260	\$138.00	\$35,880.00	\$14.00	\$3,640.00	\$26.00	\$6,760.00
5 Spirit Park	Visit	364	\$83.00	\$30,212.00	\$14.00	\$5,096.00	\$45.00	\$16,380.00
	GROUP	C TOTAL	I	\$186,576.00		\$24,024.00		\$81,380.00

1 1	l						1	
Group D - Neighborhood Parks	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 Allenwood Park 2 Bethany Ridge Park	Visit Visit	104 104	\$28.00 \$138.00	\$2,912.00 \$14,352.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$6.00 \$6.50	\$624.00 \$676.00
	Visit	104	\$136.00		ψ13.30	\$1,404.00	ψ0.30	
	ļ 		\$28.00	\$2,912.00	\$13.50		\$6.00	\$624.00
4 Cottonwood Bend Park	Visit	104	\$28.00	\$2,912.00	\$13.50	\$1,404.00	\$7.00	\$728.00
5 Country Meadows Park	Visit	104	\$28.00	\$2,912.00	\$13.50	\$1,404.00	\$9.00	\$936.00
6 Dayspring Nature Preserve Park 7 Dayspring Nature Preserve	Visit Visit	104 156	\$110.00 \$110.00	\$11,440.00 \$17,160.00	\$13.50 \$13.50	\$1,404.00 \$2,106.00	\$5.00 \$8.00	\$520.00 \$1,248.00
8 Fox Hollow Property	Visit	52	\$55.00	\$2,860.00	\$13.50	\$702.00	\$5.00	\$260.00
9 Glendover Park 10 Green Park	Visit Visit	104 156	\$28.00 \$28.00	\$2,912.00 \$4,368.00	\$13.50 \$13.50	\$1,404.00 \$2,106.00	\$11.00 \$6.50	\$1,144.00 \$1,014.00
11 Lost Creek Park 12 Morgan Crossing Park	Visit Visit	104 104	\$42.00 \$42.00	\$4,368.00 \$4,368.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$6.50 \$6.50	\$676.00 \$676.00
13 Orchards Park	Visit	104	\$28.00	\$2,912.00	\$13.50	\$1,404.00	\$5.00	\$520.00
14 Quail Run Park	Visit	260	\$28.00	\$7,280.00	\$13.50	\$3,510.00	\$8.00	\$2,080.00
15 Reed Park East and West	Visit	104 104	\$110.00 \$55.00	\$11,440.00	\$13.50	\$1,404.00 \$1,404.00	\$10.00	\$1,040.00
16 Ridgeview Crossing Park 17 Spring Meadow Park	Visit Visit	104	\$55.00	\$5,720.00 \$5,720.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$6.00 \$6.50	\$624.00 \$676.00
18 Stacy Ridge park 19 Story Park	Visit Visit	104 104	\$28.00 \$55.00	\$2,912.00 \$5,720.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$10.50 \$10.50	\$1,092.00 \$1,092.00
20 Suncreek Park	Visit	156	\$55.00	\$8,580.00	\$13.50	\$2,106.00	\$14.00	\$2,184.00
Twin Creeks Park Waterford Park	Visit Visit	104 104	\$55.00 \$55.00	\$5,720.00 \$5,720.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$9.50 \$5.00	\$988.00 \$520.00
23 Watters Crossing Park	Visit GROUP	156 D TOTAL	\$28.00	\$4,368.00 \$139,568.00	\$13.50	\$2,106.00 \$36,504.00	\$9.00	\$1,404.00 \$21,346.00
		1 YR EST.						
Group E - Enhanced Greenbelts	UNIT	QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
Bridgewater Crossing Greenbelt Park Cumberland Crossing Park	Visit Visit	104 104	\$42.00 \$42.00	\$4,368.00 \$4,368.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$12.50 \$8.00	\$1,300.00 \$832.00
3 Custer Meadows Greenbelt 4 Greenville Heights Park	Visit Visit	104 104	\$55.00 \$28.00	\$5,720.00 \$2,912.00	\$13.50 \$13.50	\$1,404.00 \$1,404.00	\$6.00 \$7.00	\$624.00 \$728.00
5 Heritage Park	Visit	104	\$55.00	\$5,720.00	\$13.50	\$1,404.00	\$5.00	\$520.00
6 Shadow Lakes Park 7 Ridgeview Trail Loop at Star Creek	Visit Visit	104 52	\$28.00 \$42.00	\$2,912.00 \$2,184.00	\$13.50 \$13.50	\$1,404.00 \$702.00	\$8.50 \$5.00	\$884.00 \$260.00
8 The Bluffs at Lost Creek 9 The Woods Natural Area	Visit Visit	52 104	\$55.00 \$110.00	\$2,860.00 \$11,440.00	\$13.50 \$13.50	\$702.00	\$5.00 \$6.00	\$260.00
9 THE WOODS NATURAL AREA		E TOTAL	\$110.00	\$42,484.00	\$13.30	\$1,404.00 \$11,232.00	\$6.00	\$624.00 \$6,032.00
		1 YR EST.						
Group F - Pocket Parks	UNIT	QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 Hillside Play Area 2 Rolling Hills Park	Visit Visit	52 52	\$14.00 \$14.00	\$728.00 \$728.00	\$13.50 \$13.50	\$702.00 \$702.00	\$5.00 \$5.00	\$260.00 \$260.00
3 Walden Park	Visit	52	\$14.00	\$728.00	\$13.50	\$702.00	\$5.00	\$260.00
4 Windridge park	Visit GROUP	156 F TOTAL	\$14.00	\$2,184.00 \$4,368.00	\$13.50	\$2,106.00 \$4,212.00	\$5.00	\$780.00 \$1,560.00
		1 YR EST.						
Group G - Special Use Parks	UNIT	QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 Allen Cemetery 2 Bolin Park	Visit Visit	52 260	\$110.00 \$83.00	\$5,720.00 \$21,580.00	\$14.00 \$14.00	\$728.00 \$3,640.00	\$15.00 \$12.00	\$780.00 \$3,120.00
3 Hillside Wellness Park 4 Jupiter Ballfields	Visit Visit	156 260	\$83.00 \$83.00	\$12,948.00 \$21,580.00	\$14.00 \$14.00	\$2,184.00 \$3,640.00	\$10.00 \$9.00	\$1,560.00 \$2,340.00
5 Twin Creeks Business Park	Visit	156	\$110.00	\$17,160.00	\$14.00	\$2,184.00	\$7.50	\$1,170.00
	GROUP	G TOTAL		\$78,988.00		\$12,376.00		\$8,970.00
Group H - Right of Ways/Medians/Easements	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 Allen Heights	Visit	104	\$42.00	\$4,368.00	\$13.50	\$1,404.00	\$35.00	\$3,640.00
2 Allen Drive / St. Mary's Drive 3 Alma Road Medians (North of Exch.)	Visit Visit	52 52	\$83.00 \$42.00	\$4,316.00 \$2,184.00	\$13.50 \$13.50	\$702.00 \$702.00	\$10.50 \$14.50	\$546.00 \$754.00
4 Alma Road Medians (South of McDermott) 5 Angel Parkway	Visit Visit	52 52	\$42.00 \$42.00	\$2,184.00 \$2,184.00	\$13.50 \$13.50	\$702.00 \$702.00	\$7.50 \$17.00	\$390.00 \$884.00
6 Bethany Road East of US 75	Visit	104	\$83.00	\$8,632.00	\$13.50	\$1,404.00	\$42.50	\$4,420.00
7 Bethany Rd West of US 75 8 Burnside R.O.W.	Visit Visit	52 52	\$28.00 \$83.00	\$1,456.00 \$4,316.00	\$13.50 \$13.50	\$702.00 \$702.00	\$15.00 \$6.00	\$780.00 \$312.00
9 Cedar Dr 10 Chaparral Rd	Visit Visit	52 104	\$83.00 \$42.00	\$4,316.00 \$4,368.00	\$13.50 \$13.50	\$702.00 \$1,404.00	\$5.00 \$6.00	\$260.00 \$624.00
11 Custer Road R.O.W.	Visit	104		ψ4,300.00				
		52	\$83.00	\$4,316.00	\$13.50	\$702.00	\$5.00	\$260.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W.	Visit Visit	52 104 52		\$4,316.00 \$5,720.00 \$2,860.00	\$13.50 \$13.50 \$13.50	\$702.00 \$1,404.00 \$702.00	\$5.00 \$38.00 \$23.50	\$3,952.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr	Visit Visit Visit	104 52 104	\$83.00 \$55.00 \$55.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00	\$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00	\$3,952.00 \$1,222.00 \$520.00
Exchange East Medians and R.O.W. Exchange West Medians and R.O.W. Greenville Ave Greenville Ave Hedgecoxe Median and R.O.W.	Visit Visit Visit Visit Visit	104 52 104 104 104	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountian Gate Dr. 15 Greenville Ave. 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road	Visit Visit Visit Visit Visit Visit Visit Visit	104 52 104 104 104 52	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr. 15 Greenville Ave 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road 18 Main Street (East of Greenville) 19 Main Street (Dast of Wes	Visit	104 52 104 104 104 52 104 104	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00 \$1,300.00 \$520.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr 15 Greenville Ave 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road 18 Main Street (East of Greenville) 19 Main Street Downtown 20 Malone R.O.W. 21 McDermott Drive	Visit	104 52 104 104 104 52 104	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00 \$1,300.00
12	Visit	104 52 104 104 104 52 104 104 52 104 52	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$2,184.00 \$2,184.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$6.00 \$36.00 \$36.00 \$11.00	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00 \$520.00 \$312.00 \$37,744.00 \$572.00
12	Visit	104 52 104 104 104 52 104 52 104 52 104 52 52 52 52 52	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$2,860.00 \$4,368.00 \$2,184.00 \$2,184.00 \$2,184.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$5.00 \$6.00 \$36.00 \$11.00 \$5.00 \$15.50	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00 \$520.00 \$312.00 \$3744.00 \$572.00 \$260.00 \$806.00
Exchange East Medians and R.O.W.	Visit	104 52 104 104 104 104 52 104 52 104 52 52 52 52 52	\$83.00 \$55.00 \$42.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$4,368.00 \$4,368.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$6.00 \$36.00 \$11.00 \$5.00 \$15.50 \$15.50	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00 \$1,300.00 \$520.00 \$312.00 \$37,744.00 \$572.00 \$260.00 \$806.00 \$1,976.00
Exchange East Medians and R.O.W.	Visit	104 52 104 104 104 104 104 104 52 104 52 104 52 52 104 52 52 52 104 52 52 52 52 52 52 53 54 55 55 56 57 57 58 58 58 58 58 58 58 58 58 58	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,184.00 \$2,860.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$5.00 \$6.00 \$36.00 \$11.00 \$5.00 \$15.50	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$390.00 \$1,300.00 \$12.00 \$312.00 \$312.00 \$3744.00 \$572.00 \$260.00 \$1,976.00 \$2,808.00 \$2,808.00
12. Exchange East Medians and R.O.W. 13. Exchange West Medians and R.O.W. 14. Fountain Gate Dr. 15. Greenville Ave 16. Hedgecoxe Median and R.O.W. 17. Jupiter Road 18. Main Street (East of Greenville) 19. Main Street Downtown 20. Malone R.O.W. 21. McDermott Drive 22. McDermott R.O.W. 22. McDermott R.O.W. 23. Park Place Drive 24. Ridgeview Median 25. Stacy Medians 26. Watters Road Cluster 27. Small Medians and Entries	Visit	104 52 104 104 104 104 104 104 104 52 52 52 104 52 52 104 52 52 52 104 52 52 52 104	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$2,184.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00	\$13.50 \$1	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$5.00 \$36.00 \$36.00 \$36.00 \$11.00 \$15.50 \$19.00 \$5.00 \$	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$1,976.00 \$1,300.00 \$1,300.00 \$520.00 \$372.00 \$372.00 \$260.00 \$260.00 \$260.00 \$2806.00 \$1,976.00 \$2,808.00
12	Visit	104 52 104 104 104 52 104 52 104 52 52 52 52 52 104 52 52 104 52 52 104 104 52 52 104 52 52 104 52 52 104 52 52 52 52 52 52 52 52 52 52	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,184.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$703	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$5.00 \$6.00 \$36.00 \$36.00 \$11.00 \$19.00 \$10.00	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$1300.00 \$520.00 \$312.00 \$312.00 \$372.00 \$372.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00
12	Visit	104 52 104 104 104 52 104 52 104 52 52 104 52 52 52 52 52 104 104 52 52 104 104 52 52 104 704 705 707 707 707 707 707 707 707	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$2,184.00 \$2,860.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$5,184.00 \$5,184.00 \$5,184.00 \$101,972.00	\$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$2702.00 \$1,404.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$703.00 \$70	\$5.00 \$38.00 \$22.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$5.00 \$36.00 \$36.00 \$31.00 \$5.00 \$11.00 \$5.00 \$15.50 \$19.00 \$27.00 \$5.00	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$1300.00 \$312.00 \$312.00 \$37,44.00 \$572.00 \$260.00 \$1,976.00 \$2,808.00 \$260.00 \$36,764.00
12. Exchange East Medians and R.O.W. 13. Exchange West Medians and R.O.W. 14. Fountain Gate Dr. 15. Greenville Ave 16. Hedgecoxe Median and R.O.W. 17. Jupiter Road 18. Main Street (East of Greenville) 19. Main Street Downtown 20. Malone R.O.W. 21. McDermott Drive 22. McDermott R.O.W. 23. Park Place Drive 24. Ridgeview Median 25. Stacy Medians 26. Watters Road Cluster 27. Small Medians and Entries Group I - Municipal Buildings 1 Municipal Complex 2 Allen Heritage Center 3 Library	Visit	104 52 104 104 109 109 109 109 109 109 52 109 52 52 52 52 52 104 52 52 104 52 52 104 52 52 104 52 52 104 52 52 52 104 52 52 52 104 52 52 52 104 52 52 52 52 104 52 52 52 52 104 52 52 52 52 52 104 52 52 52 52 104 52 52 52 104 52 52 104 52 52 52 104 52 52 104 52 52 104 52 52 104 52 52 104 104 52 104 104 52 104 104 52 104 104 104 104 104 104 104 104	\$83.00 \$55.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,184.00 \$2,860.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$3,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$5,720.00 \$5,720.00 \$5,720.00	\$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$703.00 \$1,404.00 \$703.00 \$1,404.00 \$703.00 \$1,404.00 \$703.00 \$703.00 \$1,404.00 \$703.00 \$1,404.00 \$703.00 \$1,404.00 \$703.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$5.00 \$6.00 \$36.00 \$11.00 \$5.00 \$15.50 \$15.50 \$15.50 \$19.00 \$27.00 \$5.00 \$10.00 \$1	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$1300.00 \$520.00 \$312.00 \$572.00 \$572.00 \$60.00 \$1,976.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr 15 Greenville Ave 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road 18 Main Street (East of Greenville) 19 Main Street Downtown 20 Malone R.O.W. 21 McDermott Drive 22 McDermott R.O.W. 22 Allen Heritage Center 24 Ridgeview Median 25 Stacy Medians 26 Watters Road Cluster 27 Small Medians and Entries Group I - Municipal Buildings 1 Municipal Complex 2 Allen Heritage Center	Visit	104 52 104 104 1094 52 104 1094 552 1004 1094 552 1004 552 502 1094 104 5104 104 52 107 107 260 104	\$83.00 \$55.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,7720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,184.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$4,36	\$13.50 \$1	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$19.00 \$7.50 \$12.50 \$6.00 \$31.50 \$12.50 \$5.00 \$11.00 \$15.50 \$5.00 \$15.50 \$19.00 \$27.00 \$5.00	\$3,952.00 \$1,222.00 \$522.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$11,300.00 \$520.00 \$312.00 \$37,44.00 \$572.00 \$396.00 \$3,766.00 \$2,600.00 \$2,600.00 \$36,764.00 \$2,200.00 \$36,764.00 \$2,200.00 \$36,764.00 \$2,200.00 \$36,764.00
12	Visit	104 52 104 104 1094 52 104 1094 552 1094 552 1094 552 1094 1094 1094 1094 1094 1094 1096 1096 1096 1096 1096 1096 1096 1096	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$4,868.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,184.00 \$2,184.00 \$4,368.00 \$1,184.00 \$1,184.00 \$1,184.00 \$2,184	\$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$6.00 \$36.00 \$36.00 \$15.00 \$15.50 \$15.50 \$19.00 \$27.00 \$5.00	\$3,952.00 \$1,222.00 \$522.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$1,976.00 \$312.00 \$312.00 \$312.00 \$37.44.00 \$72.00 \$260.00 \$3,744.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$260.00 \$36,764.00
12	Visit	104 52 104 104 1094 52 104 1094 552 1094 552 1094 552 1094 1094 1094 1094 1094 1094 1096 1096 1096 1096 1096 1096 1096 1096	\$83.00 \$55.00 \$55.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$42.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$3,080.00 \$4,368.00 \$2,184.00 \$4,368.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$8,632.00 \$2,912.00 \$67,444.00	\$13.50 \$1	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$2702.00 \$1,404.00 \$702.00 \$1,404.00	\$5.00 \$38.00 \$22.50 \$5.00 \$31.50 \$19.00 \$7.50 \$12.50 \$5.00 \$31.00 \$5.00 \$11.00 \$5.00 \$15.50 \$19.00 \$27.00 \$5.00 \$10.00 \$5.00 \$	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$1300.00 \$520.00 \$312.00 \$572.00 \$60.00 \$1,976.00 \$260.00 \$2,808.00 \$2,808.00 \$260.00 \$2,208.00 \$2,200.00 \$2,2
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr 15 Greenville Ave 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road 18 Main Street (East of Greenville) 19 Main Street Downtown 20 Malone R.O.W. 21 McDermott Drive 22 McDermott R.O.W. 23 Park Place Drive 24 Ridgeview Median 25 Stacy Medians 26 Watters Road Cluster 27 Small Medians and Entries Group I - Municipal Buildings 1 Municipal Complex 2 Illen Heritage Center 3 Library 4 Recreation Hall 5 Animal Shelter	Visit	104 52 104 104 104 52 106 109 52 104 52 52 104 104 52 52 104 104 52 52 104 104 104 104 104 104 104 104	\$83.00 \$55.00 \$55.00 \$42.00 \$55.00 \$42.00 \$55.00 \$42.00	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$2,184.00 \$3,080.00 \$4,368.00 \$2,184.00 \$4,368.00 \$2,184.00 \$4,368.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$6,7444.00 EXT PRICE	\$13.50 \$13.50	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00	\$5.00 \$38.00 \$22.50 \$5.00 \$11.50 \$19.00 \$7.50 \$12.50 \$6.00 \$36.00 \$11.00 \$5.00 \$11.00 \$5.00 \$11.00 \$27.00 \$5.00 \$15.50 \$1	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$3,276.00 \$3,90.00 \$1,976.00 \$390.00 \$1,300.00 \$520.00 \$312.00 \$572.00 \$260.00 \$2,808.00 \$2,808.00 \$2,808.00 \$2,208.00 \$2,208.00 \$2,208.00 \$2,208.00 \$2,208.00 \$2,208.00 \$36,764.00 EXT PRICE
12	Visit	104 52 104 104 104 52 104 104 52 104 52 52 52 52 104 52 52 104 104 52 104 52 104 104 52 104 104 52 104 104 52 104 104 52 104 104 52 104 104 52 104 104 104 52 104 104 104 104 104 104 104 104	\$83.00 \$55.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,860.00 \$2,184.00 \$3,720.00 \$4,368.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$6,7,444.00 EXT PRICE \$2,860.00 \$2,912.00 \$2,912.00 \$3,620.00 \$3,	\$13.50 \$1	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$703.00 \$1,404.00	\$5.00 \$38.00 \$22.50 \$5.00 \$11.50 \$19.00 \$7.50 \$12.50 \$5.00 \$36.00 \$36.00 \$11.00 \$5.00 \$11.00 \$5.00 \$11.00 \$5.00 \$15.50 \$5.00 \$5.00 \$5.00 \$10.0	\$3,952.00 \$1,222.00 \$5,220.00 \$5,220.00 \$3,276.00 \$3,276.00 \$3,90.00 \$1,976.00 \$390.00 \$1,300.00 \$520.00 \$312.00 \$572.00 \$580.00 \$3744.00 \$572.00 \$2,800.00 \$3,744.00 \$2,800.00 \$3,900.00
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr 15 Greenville Ave 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road 18 Main Street (East of Greenville) 19 Main Street Downtown 20 Malone R.O.W. 21 McDermott Drive 22 McDermott R.O.W. 22 McDermott R.O.W. 24 Ridgeview Median 25 Stacy Medians 25 Stacy Medians 26 Watters Road Cluster 27 Small Medians and Entries Group I - Municipal Buildings 1 Municipal Complex 2 Allen Heritage Center 3 Library 4 Recreation Hall 5 Animal Shelter Group J - Undeveloped Properties - Alternate Sites 1 Estevie Property Molson Farm - R.O.W. 3 Raintee Park	Visit	104 52 104 104 104 52 104 1094 552 1004 1094 552 1004 104 552 562 1094 104 104 107 260 104 260 104 104 104 104 1 TOTAL 1 YR EST. QTY 250 104 104 250 104 250 104 250 105 105 106 107 250 107 250 107 250 108 109 109 109 109 109 109 109 109 109 109	\$83.00 \$55.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$2,860.00 \$2,860.00 \$2,860.00 \$2,860.00 \$2,184.00 \$3,720.00 \$2,184.00 \$3,720.00 \$4,360.00 \$3,720.00 \$4,360.00 \$5,720.00 \$5,720.00 \$4,360.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00	\$13.50 \$1	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.0	\$5.00 \$38.00 \$23.50 \$5.00 \$31.50 \$19.00 \$7.50 \$19.00 \$7.50 \$10.00 \$12.50 \$6.00 \$36.00 \$15.00 \$15.50 \$19.00 \$27.00 \$5.00 \$19.00 \$27.00 \$5.00 \$19.00 \$27.00 \$5.00 \$19.00 \$27.00 \$5.00	\$3,952.00 \$1,222.00 \$520.00 \$3,276.00 \$3,276.00 \$1,976.00 \$390.00 \$11,976.00 \$520.00 \$11,300.00 \$520.00 \$37,44.00 \$572.00 \$372.00 \$366.00 \$260.00 \$260.00 \$260.00 \$272.00 \$3674.00 \$572.00 \$270.00 \$27
12 Exchange East Medians and R.O.W. 13 Exchange West Medians and R.O.W. 14 Fountain Gate Dr 15 Greenville Ave 16 Hedgecoxe Median and R.O.W. 17 Jupiter Road 18 Main Street (East of Greenville) 19 Main Street Owntown 20 Malone R.O.W. 21 McDermott Drive 22 McDermott R.O.W. 23 Park Place Drive 24 Ridgeview Median 25 Stacy Medians 26 Watters Road Cluster 27 Small Medians and Entries Group I - Municipal Buildings 1 Municipal Complex 2 Allen Heritage Center 3 Library 4 Recreation Hall 5 Animal Shelter Group J - Undeveloped Properties - Alternate Sites 1 Estevie Property 2 Misson Farm - R.O.W.	Visit	104 52 104 104 104 52 104 104 52 104 52 52 52 52 104 52 52 104 104 52 104 52 104 104 52 104 104 52 104 104 52 104 104 52 104 104 52 104 104 52 104 104 104 52 104 104 104 104 104 104 104 104	\$83.00 \$55.00 \$55.00 \$42.00 \$40.00 \$4	\$5,720.00 \$2,860.00 \$4,368.00 \$4,368.00 \$4,368.00 \$5,720.00 \$2,184.00 \$4,368.00 \$2,860.00 \$2,860.00 \$2,860.00 \$2,184.00 \$3,720.00 \$4,368.00 \$5,720.00 \$5,720.00 \$5,720.00 \$5,720.00 \$6,7,444.00 EXT PRICE \$2,860.00 \$2,912.00 \$2,912.00 \$3,620.00 \$3,	\$13.50 \$1	\$1,404.00 \$702.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$702.00 \$1,404.00 \$702.00 \$1,404.00 \$703.00 \$1,404.00	\$5.00 \$38.00 \$22.50 \$5.00 \$11.50 \$19.00 \$7.50 \$12.50 \$5.00 \$36.00 \$36.00 \$11.00 \$5.00 \$11.00 \$5.00 \$11.00 \$5.00 \$15.50 \$5.00 \$5.00 \$5.00 \$10.0	\$3,952.00 \$1,222.00 \$5,220.00 \$5,220.00 \$3,276.00 \$3,276.00 \$3,90.00 \$1,976.00 \$390.00 \$1,300.00 \$520.00 \$312.00 \$572.00 \$580.00 \$3744.00 \$572.00 \$2,800.00 \$3,744.00 \$2,800.00 \$3,900.00

	GROUP	J TOTAL	T	\$32,968.00]	\$5,408.00	T	\$2,522.00
Group K - Allen USA Celebration	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
1 Allen USA Celebration Litter Control	Visit GROUP	1 K TOTAL	\$3,520.00	\$3,520.00 \$3,520.00	\$13.50	\$13.50 \$13.50	\$3,000.00	\$3,000.00 \$3,000.00
Group L - Athletic Tournaments Sites	UNIT	1 YR EST. QTY	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE	UNIT PRICE	EXT PRICE
Allen Station Park – Softball Facility (4) Youth Softball Fields	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$20.00	\$360.00
Allen Station Park – Baseball Facility (5) Youth Baseball Fields	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$20.00	\$360.00
Celebration Park – Baseball Facility (4) Youth Baseball Fields	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$20.00	\$360.00
4 Celebration Park – Soccer Facility (15) Youth Soccer Fields	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$20.00	\$360.00
5 Ford Park East - Softball Facility (3) Adult Softball fields	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$20.00	\$360.00
6 Bolin Park – Baseball Facility and Soccer Facility (2) Youth Baseball Fields (2) Youth Soccer Fields	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$10.00	\$180.00
7 Spirit Park-Adult Softball and Cricket Facility (4) Adult Softball Fields (1) Cricket Field	Visit	18	\$220.00	\$3,960.00	\$13.50	\$243.00	\$20.00	\$360.00
	GROUP	L TOTAL	1	\$27,720.00	1	\$1,701.00	<u> </u>	\$2,340.00

Annual Total: \$1,060,268.00 \$157,220.50

\$209,908.00

Sum of Amount	Group					
Row Labels	Α	В	С	D	E	F
Good Earth Corp	\$ 45,760.00	\$328,900.00	\$ 186,576.00	\$ 139,568.00	\$42,484.00	\$ 4,368.00
GreenList Services	\$ 728.00	\$ 22,412.00	\$ 24,024.00	\$ 36,504.00	\$11,232.00	\$ 4,212.00
Lawn Star Landscape	\$ 15,860.00	\$ 23,894.00	\$ 81,380.00	\$ 21,346.00	\$ 6,032.00	\$ 1,560.00
Grand Total	\$ 62,348.00	\$ 375,206.00	\$ 291,980.00	\$ 197,418.00	\$ 59,748.00	\$10,140.00

G		Н	I	J	K	L	Grand Total
\$	78,988.00	\$101,972.00	\$67,444.00	\$32,968.00	\$3,520.00	\$27,720.00	\$ 1,060,268.00
\$	12,376.00	\$ 27,378.00	\$11,232.00	\$ 5,408.00	\$ 13.50	\$ 1,701.00	\$ 157,220.50
\$	8,970.00	\$ 36,764.00	\$ 6,240.00	\$ 2,522.00	\$ 3,000.00	\$ 2,340.00	\$ 209,908.00
\$	100,334.00	\$ 166,114.00	\$84,916.00	\$ 40,898.00	\$ 6,533.50	\$31,761.00	\$ 1,427,396.50